
Cylinder
 
 
cube
 
 
sphere

Half of 6          ______                          6 + 2 = 3 + ____ = ____
 
Double of 4       ______                          8 - 2 = 2 + ____ = ____
 
2 x 3 = 2  + ____ + ____ = ____             6 ÷ 3 = ____
 
3 x 2 = ______                                      30 - 10 =  ____
 

Alana has 5 more chocolates than Corrine . Corrine has 8

chocolates . How many chocolates does Alana have?

____________

Answer the following.

Name :__________________

Match the 3D shapes with there names.

Draw a line to cut each of the following into two equal parts.

Write the following numbers in word form.
35 

92 

71

_________________________
 
_________________________
 
_________________________
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